BID TABULATION

CONTRACT NO.: D6D2.POC.014

ROUTE: Various Primary & SR

PROJECT: Box Culvert Scour Repairs

 WBS NO.:
 17106.1043015, etc.

 DATE:
 9/30/2021

 COUNTY:
 Harnett

	Site 1 - 17106.1043015 - NC 210 - Cul	vert 17		Rufus Yo	oung Const.	Tarheel	Concrete	Baxley C	Corporation	Jymco C	Construction
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$2,000.00	\$2,000.00	\$6,500.00	\$6,500.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
20	Borrow Excavation	10	CY	\$5.00	\$50.00	\$30.00	\$300.00	\$50.00	\$500.00	\$50.00	\$500.00
30	Rip Rap, Class II (Class 2)	30	TON	\$150.00	\$4,500.00	\$100.00	\$3,000.00	\$105.00	\$3,150.00	\$100.00	\$3,000.00
40	Temporary Traffic Control	1	LS	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
50	Matting for Erosion Control	10	SY	\$10.00	\$100.00	\$10.00	\$100.00	\$6.00	\$60.00	\$20.00	\$200.00
60	Seeding and Mulching	0.1	ACR	\$0.00	\$0.00	\$1,250.00	\$125.00	\$1,000.00	\$100.00	\$20,000.00	\$2,000.00
		SUBTO	TAL		\$8,650.00		\$13,525.00		\$18,810.00		\$20,700.00

S	Site 2 - 17106.1043016 - US 301 - C	ulvert 19		Rufus Yo	oung Const.	Tarheel	Concrete	Baxley C	Corporation	Jymco C	Construction
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$2,000.00	\$2,000.00	\$6,500.00	\$6,500.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
20	Borrow Excavation	10	CY	\$5.00	\$50.00	\$30.00	\$300.00	\$50.00	\$500.00	\$50.00	\$500.00
30	Rip Rap, Class B	12	TON	\$150.00	\$1,800.00	\$80.00	\$960.00	\$105.00	\$1,260.00	\$90.00	\$1,080.00
40	Temporary Traffic Control	1	LS	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00	\$8,000.00	\$8,000.00	\$10,000.00	\$10,000.00
50	Matting for Erosion Control	10	SY	\$10.00	\$100.00	\$10.00	\$100.00	\$6.00	\$60.00	\$20.00	\$200.00
60	Seeding and Mulching	0.1	ACR	\$0.00	\$0.00	\$1,250.00	\$125.00	\$1,000.00	\$100.00	\$20,000.00	\$2,000.00
		SUBTO	TAL		\$5,950.00		\$11,485.00		\$14,920.00		\$18,780.00

	Site 3 - 17106.1043017 - NC 55 - Cu	Ivert 20		Rufus Yo	oung Const.	Tarheel	Concrete	Baxley C	Corporation	Jymco C	Construction
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$2,000.00	\$2,000.00	\$6,500.00	\$6,500.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
20	Borrow Excavation	10	CY	\$5.00	\$50.00	\$30.00	\$300.00	\$50.00	\$500.00	\$50.00	\$500.00
30	Rip Rap, Class II (Class 2)	35	TON	\$150.00	\$5,250.00	\$100.00	\$3,500.00	\$105.00	\$3,675.00	\$100.00	\$3,500.00
40	Temporary Traffic Control	1	LS	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
50	Matting for Erosion Control	10	SY	\$10.00	\$100.00	\$10.00	\$100.00	\$6.00	\$60.00	\$20.00	\$200.00
60	Seeding and Mulching	0.1	ACR	\$0.00	\$0.00	\$1,250.00	\$125.00	\$1,000.00	\$100.00	\$20,000.00	\$2,000.00
		SUBTO	TAL		\$9,400.00		\$14,025.00		\$19,335.00		\$21,200.00

Site 4 ·	- 17106.1043018 - SR 1726 - Maynard Lake	Rd - Culver	t 261	Rufus Yo	oung Const.	Tarheel	Concrete	Baxley C	Corporation	Jymco C	Construction
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$2,000.00	\$2,000.00	\$6,500.00	\$6,500.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
20	Borrow Excavation	10	CY	\$5.00	\$50.00	\$30.00	\$300.00	\$50.00	\$500.00	\$50.00	\$500.00
30	Rip Rap, Class II (Class 2)	30	TON	\$150.00	\$4,500.00	\$100.00	\$3,000.00	\$105.00	\$3,150.00	\$100.00	\$3,000.00
40	Temporary Traffic Control	1	LS	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
50	Matting for Erosion Control	10	SY	\$10.00	\$100.00	\$10.00	\$100.00	\$6.00	\$60.00	\$20.00	\$200.00
60	Seeding and Mulching	0.1	ACR	\$0.00	\$0.00	\$1,250.00	\$125.00	\$1,000.00	\$100.00	\$20,000.00	\$2,000.00
		SUBTO	TAL		\$8,650.00		\$13,525.00		\$18,810.00		\$20,700.00

Site !	5 - 17106.1043019 - SR 1808 - Jonesboro Re	d - Culvert 2	251	Rufus Yo	oung Const.	Tarheel	Concrete	Baxley C	Corporation	Jymco C	Construction
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$2,000.00	\$2,000.00	\$6,500.00	\$6,500.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
20	Debris Removal	1	LS	\$2,000.00	\$2,000.00	\$4,500.00	\$4,500.00	\$1,500.00	\$1,500.00	\$6,000.00	\$6,000.00
30	Borrow Excavation	5	CY	\$5.00	\$25.00	\$30.00	\$150.00	\$50.00	\$250.00	\$50.00	\$250.00
40	Temporary Traffic Control	1	LS	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00
50	Matting for Erosion Control	5	SY	\$10.00	\$50.00	\$10.00	\$50.00	\$6.00	\$30.00	\$31.00	\$155.00
60	Seeding and Mulching	0.05	ACR	\$0.00	\$0.00	\$1,250.00	\$62.50	\$1,000.00	\$50.00	\$8,000.00	\$400.00
		SUBTO	TAL		\$6,075.00		\$14,762.50		\$12,830.00		\$21,805.00

	Site 6 - 17106.1043020 - NC 27 - Cu	Ivert 67		Rufus Yo	oung Const.	Tarheel	Concrete	Baxley C	orporation	Jymco C	Construction
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST						
10	Mobilization	1	LS	\$2,000.00	\$2,000.00	\$6,500.00	\$6,500.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
20	Borrow Excavation	5	CY	\$5.00	\$25.00	\$30.00	\$150.00	\$50.00	\$250.00	\$50.00	\$250.00
30	Rip Rap, Class II (Class 2)	10	TON	\$150.00	\$1,500.00	\$100.00	\$1,000.00	\$105.00	\$1,050.00	\$100.00	\$1,000.00
40	Temporary Traffic Control	1	LS	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00	\$6,000.00	\$6,000.00	\$8,000.00	\$8,000.00
50	Matting for Erosion Control	5	SY	\$10.00	\$50.00	\$10.00	\$50.00	\$6.00	\$30.00	\$20.00	\$100.00
60	Seeding and Mulching	0.05	ACR	\$0.00	\$0.00	\$1,250.00	\$62.50	\$1,000.00	\$50.00	\$8,000.00	\$400.00
		SUBTO	TAL		\$5,575.00		\$11,262.50		\$12,380.00		\$14,750.00

	Site 7 - 17106.1043021 - NC 27 - Cu	lvert 68		Rufus Yo	oung Const.	Tarheel	Concrete	Baxley C	Corporation	Jymco C	Construction
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST						
10	Mobilization	1	LS	\$2,000.00	\$2,000.00	\$6,500.00	\$6,500.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00
20	Borrow Excavation	5	CY	\$5.00	\$25.00	\$30.00	\$150.00	\$50.00	\$250.00	\$50.00	\$250.00
30	Rip Rap, Class II (Class 2)	12	TON	\$150.00	\$1,800.00	\$100.00	\$1,200.00	\$105.00	\$1,260.00	\$100.00	\$1,200.00
40	Temporary Traffic Control	1	LS	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00	\$8,000.00	\$8,000.00
50	Matting for Erosion Control	5	SY	\$10.00	\$50.00	\$10.00	\$50.00	\$6.00	\$30.00	\$20.00	\$100.00
60	Seeding and Mulching	0.05	ACR	\$0.00	\$0.00	\$1,250.00	\$62.50	\$1,000.00	\$50.00	\$8,000.00	\$400.00
		SUBTO	TAL		\$5,875.00		\$11,462.50		\$9,590.00		\$14,950.00

	Site 8 - 17106.1043022 - NC 27 - Cu	Ivert 70		Rufus Yo	oung Const.	Tarheel	Concrete	Baxley C	Corporation	Jymco C	Construction
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$2,000.00	\$2,000.00	\$6,500.00	\$6,500.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00
20	Borrow Excavation	10	CY	\$5.00	\$50.00	\$30.00	\$300.00	\$50.00	\$500.00	\$50.00	\$500.00
30	Rip Rap, Class II (Class 2)	12	TON	\$150.00	\$1,800.00	\$100.00	\$1,200.00	\$105.00	\$1,260.00	\$100.00	\$1,200.00
40	Temporary Traffic Control	1	LS	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00	\$8,000.00	\$8,000.00
50	Matting for Erosion Control	10	SY	\$10.00	\$100.00	\$10.00	\$100.00	\$6.00	\$60.00	\$20.00	\$200.00
60	Seeding and Mulching	0.1	ACR	\$0.00	\$0.00	\$1,250.00	\$125.00	\$1,000.00	\$100.00	\$20,000.00	\$2,000.00
		SUBTO	TAL		\$5,950.00		\$11,725.00		\$9,920.00		\$16,900.00

S	ite 9 - 17106.1043023 - US 421 - Cu	Ivert 256		Rufus Yo	oung Const.	Tarheel	Concrete	Baxley C	Corporation	Jymco C	Construction
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$2,000.00	\$2,000.00	\$6,500.00	\$6,500.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00
20	Borrow Excavation	5	CY	\$5.00	\$25.00	\$30.00	\$150.00	\$50.00	\$250.00	\$50.00	\$250.00
30	Rip Rap, Class B	8	TON	\$150.00	\$1,200.00	\$80.00	\$640.00	\$105.00	\$840.00	\$90.00	\$720.00
40	Temporary Traffic Control	1	LS	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00	\$10,000.00	\$10,000.00
50	Matting for Erosion Control	5	SY	\$10.00	\$50.00	\$10.00	\$50.00	\$6.00	\$30.00	\$20.00	\$100.00
60	Seeding and Mulching	0.1	ACR	\$0.00	\$0.00	\$1,250.00	\$125.00	\$1,000.00	\$100.00	\$20,000.00	\$2,000.00
		SUBTO	TAL		\$5,275.00		\$10,965.00		\$9,220.00		\$18,070.00

Si	ite 10 - 17106.1043024 - US 421 - Cu	ulvert 255		Rufus Yo	oung Const.	Tarheel	Concrete	Baxley C	Corporation	Jymco C	Construction
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$2,000.00	\$2,000.00	\$6,500.00	\$6,500.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
20	Borrow Excavation	5	CY	\$5.00	\$25.00	\$30.00	\$150.00	\$50.00	\$250.00	\$50.00	\$250.00
30	Rip Rap, Class II (Class 2)	15	TON	\$150.00	\$2,250.00	\$100.00	\$1,500.00	\$105.00	\$1,575.00	\$100.00	\$1,500.00
40	Temporary Traffic Control	1	LS	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00	\$6,000.00	\$6,000.00	\$8,000.00	\$8,000.00
50	Matting for Erosion Control	5	SY	\$5.00	\$25.00	\$10.00	\$50.00	\$6.00	\$30.00	\$20.00	\$100.00
60	Seeding and Mulching	0.1	ACR	\$0.00	\$0.00	\$1,250.00	\$125.00	\$1,000.00	\$100.00	\$20,000.00	\$2,000.00
		SUBTO	TAL		\$6,300.00		\$11,825.00		\$12,955.00		\$16,850.00

TOTAL \$67,700.00 \$124,562.50 \$138,770.00 ** \$184,705	
--	--

** Corrected Upon Bid Review